Compact Cylinder with Lock

CLQ series

020, 025, 032, 040, 050, 263, 80, 3100

Drop prevention when the pressure of air source
is decreased or the residual pressure is released.

Holding a clamped condition
Retracting locking

Drop prevention (%
for press fitting jig
Extension locking

Drop prevention
for lifter
Retracting locking

==
=
= || =
S| S

[l O || O
ol — || =
O KK

= || =
[ =
o || s



CDLQBZ

GL@ Series Compact Cylinder

- Drop prevention is
"~ possible within the entire
e stroke at any position.

* Drop prevention in the middle of stroke
* Locking position can be changed in accordance
with the external stopper position and the

Vsl thickness of clamped workpieces.
Drop prevention for
ress fitting jig Drop prevention for lifter Holding a clamped condition
‘ Extension locking Retraction locking Retraction locking

/4
"y |
/
\ ‘
¢ J

Slmple Construction/simple and reliable locking type

“

Lock ring
Piston rod

Brake spring

Load direction

Fulerum Clearance
Unlocking port: Air exhausted Unlocking port: Air supplied
1. The lock ring is tilted by 1. The lock ring becomes
the spring force. perpendicular to the pis-
2. The tilting is increased by ton, creating clearance be-
the load and the piston rod tween the piston rod and
is securely locked. lock ring, which allows the

piston rod to move freely.

1006



with Lock

¢ Lock unit length

dimensions

27 mm 10 50 mm

* The lock unit does not project
beyond the cylinder’s external

220, 225, 232, 40, 050, 063, 280, 100

Low profile with compact lock unit

Locking direction

is selectable

Extension locking

N
\ ‘-‘ﬁf;

>

\

o
o
=]
A

3,
|

B g
af{i ][,

# The symbol for the cylinder with lock
in the pneumatic circuit uses SMC

original symbol.

Thickness of Lock Unit  (mm) CLJ2
Bore size (mm) A
% 27 \ CLM2
T ® 0[i0 O | [eLat
40 34
50 35 CL1
63 38 A Body length
80 43 MLGC
100 50
CNG
MNB

Two types of mounting

Through-hole mounting

Both ends tapped

=0

=

Easy manual

unlocking
Locked
220 to 32 240 to 100
Unlocked

20 to 632

)G

240 to 2100

Wide Size Variations from @20 to 7] 100

L1C

SHEH : BEE
A== = IS

4 S\NC

. . L.ocking Bore size Standard stroke (mm)
Siecton (mm) 5 | 10| 15| 20 | 25 | 30 | a5 |40 || 50 |7 |10
gh;ou%h-holed/ 20 @|l@e|e|le|e|le|e|@|@|@
oth ends tappex
mor _ %5 (ee[e|e|e[e[e|e|e]e
E;::ZZ?";" 32 |le|e|e|e|@| |||
CLQ | fhroughhole 40 |le|e|e|e|@| |||l @@
Retraction 50 le|e|e|le|e|le|e|le|e|e@
Both ends locking 63 le|e|e|e|e|le|e|le|e|e
tapped type D'I:l
80 le|e|e|le|e|le|e|le|e|e
100 le|e|e|le|e|le|e|le|e|e X0
1007



Compact Cylinder with Lock
Double Acting, Single Rod

CLQ series

020, 025, 32, 240, 350, 263, 280, 2100

How to Order

B co g-g
[ With auto switch [¢19] e J=1 T3] IRET)

—|M93w|_m—| |

With auto switch
(Built-in magnet) Made to Order
Mounting type
220, 925 032 t0 9100 Auto switch Refer to page 1009
B o ons ‘Thrn:gh-hn\e/ (S B | Through-hole (Standard) m )
oth ends tapped common (Standar
L ;Zon " A_| Both ends tapped type  For the applicable auto
Foot typ L Foot type switch model, refer to Number of
F Rod side flange type F | Rod side flange type the table below. .
G | Head side flange type - auto switches
G | Head side flange type . . . 5
D Double clevis type Locking direction Nil | 2pcs.
Mouning bracket s shiped D | Double clevis type A ook S Tpo
 Mounting bracket i shippe . :
together, (but not assembled). Bore size B Retraction locking n_| “n”pes.
# Cylinder mounting bolts are not | 20 | 20mm | 50| 50 mm

included. Order them separately | 25 | 25 mm | 63| 63 mm Y i
referring to “Mounting Boltfor ~ 32 [ 32 mm | 80| 80 mm Body option

¥ Nil Standard (Rod end f le thread!
COLQB” on page 1011. 20 | 40 mm |100] 100 mm B an: a\an(h ?Ub:r;rbin;e;:r read)
Built-in Magnet Cylinder Model Port thread type 1 Action 1] Rod end male thread
If a built-in magnet cylinder without an Nil_| RoM (020, 025) ['D [Double acting] | CM | With rubber bumper, Rod end male thread

auto switch is required, there is no need

to enter the symbol for the auto switch. 10 NPT Cylinder stroke (mm)
(Example) CDLQL32-30D-B TF G For “Standard strokes” and “Manufacture of Intermediate of Stroke”, refer to page 1009.
Applicable Auto Switches/Refer to pages 1119 to 1245 for detailed specifications of auto switches.
o = Wiring Load voltage Auto switch model Lead wire length (m) | wind| Applicable
Type| Special function entry % (Output) DC AC Perpendicular In-line 0._5 1| 3| 5 |None| cr:;:nector pﬁoad
2 020, 025 [032100100] 020 025] 032 [040to 0100 |(NiD)| (M) | (L) | (Z) | (N)
3-wire (NPN) 5V, MONV MON ® ® 0O —| O] ireut
Grommet 3-wire (PNP) 12V MOPV M9P ele[e|/O]—[ O]
. M9BV MoB 00O | O
2- —
_é Connector wire 12v — [ J79C = o 000
H oi o indicat 3-wire (NPN) 5V, MONWV MONW o/@/®O| [ O | ...
o iagnostic indication ¥ — LY
2 |~ (2=color indicator) o [0ire (PNP) 12V MOPWV MIPW ® ® 0 O o Relay,
S Q| 2wire |24V|12V| — M9BWV M9BW ®/®0 0 | O |—|p¢
g Water resistant | Grommet 3-wire (NPN) 5V, MONAV*! MONA*! Ol0O|@|O|—| O | et
il 3 3 — LY
3 | (2-color indicator) 3-wire (.PNP) 12V M9PAV*! MYPA*! 0|0 |@]O o
3 2-wire 12V M9BAV*! M9BA*! O|0|eO0|—| O | —
VB LS e 4-wire 5V,12V| — — | F7oF (@ |—[@]O| —| O |Ccimi
Magnetic field resistant 2-wire o = —[ P3DWA** | @ [ 2K o |
(2-color indicator) (Non-polar) — — Jpapw| |- @@ | O
3-wire .
= 2 (NPN equivalent) | — | SV — A96V A96 ) ) IC circuit| —
2 Grommet | > — [200v | — TA72 [ — [ A72H |@[—[@[—[—| — [
° — L 12V | 100V A93V*2 A93 e e 00 |
3 g o-wire 5,12 V[100V o less| A0V A90 ® —|® | — | — [Cciut|Relay,
3 Connector -2 24v{12v] — — | A73C = o| ej®ej®| — | — |PC
« g 5v,12V[%Vorless] — | A80OC — ® —|0/® ® — [Coui
e s | Grommet | 8 — — — | A7T9W — o -\ —|—| — | —
«1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
*2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m --------- Nil  (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
im- M  (Example) MONWM + D-P4DW is compatible with 240 to 100.
. L  (Example) MONWL + D-P4DW is assembled at the time of shipment.
Z  (Example) MONWZ =« D-P3BDWAL is compatible with 825 to 6100.
N  (Example) J79CN For 925, it is mounted away from the port side to avoid interference with fittings.

« Since there are other applicable auto switches than listed, refer to page 1029 for details.

* For details about auto switches with pre-wired connector, refer to pages 1192 and 1193.

* When D-A90J(V)/M90(V)/MIIW(V)/MITIA(V) types with 32 to 850 are mounted on a side other than the port side, order auto switch mounting
brackets separately. Refer to page 1028 for details.

= When mounting brackets (foot’head side flange/double clevis type) are used, then in some cases auto swit a nnot be retrofitted.

1008



Made 10 P
order | Made to Order Specifications
(For details, refer to pages 1247 to 1440.)

Symbol Specifications

-XAO Change of rod end shape

-XC35 | With coil scraper (240 to 8100 only)

-XC87

Heavy duty (240 to 2100 only)

Refer to pages 1026 to 1029 for cylinders
with auto switches.

* Minimum auto switch mounting stroke

* Proper auto switch mounting position (detection
at stroke end) and mounting height

* Operating range

* Auto switch mounting bracket: Part no.

Compact Cylinder with Lock
Double Acting, Single Rod

CLQ Sseries

Cylinder Specifications

Bore size (mm)

20 [ 25 [ 32 [ 40 [ 50 [ 63 [ 80 [ 100

Action Double acting, Single rod

Fluid Air

Proof pressure 1.5 MPa LJZ
i perating pi 1.0 MPa

Minimum operating pressure 0.2 MPa Mot LMZ

Ambient and Without auto switch: —10 to 70°C (No freezing)

fluid temperature With auto switch: =10 to 60°C (No freezing)

Lubrication Not required (Non-lube)

Piston speed

50 to 500 mm/s

Stroke length tolerance

1o mm Need

Cushion

None, rubber bumper

Port size (Rc, NPT, G)

M5 x 0.8 1/8 1/4 3/8

Note 1) The minimum operating pressure of the cylinder is 0.1 MPa when the cylinder and lock
are connected to separate ports.
Note 2) Stroke length tolerance does not include the amount of bumper change.

Lock Specifications

Bore size (mm)

20 [ 25 [ 32 [ 40 [ 50 [ 63 [ 80 [ 100

Locking action

Spring locking (Exhaust locking)

Unlocking pressure

0.2 MPa or more

Lock starting pressure

0.05 MPa or less

Locking direction

One direction (Either extension locking or retraction locking)

(Maximum static load)

Rc M5 x 0.8
1 1/4
Unlocking port size | NPT o 8 !
G M5 x 0.8 [ 18 | 14
Holding force Mo (N) 157 | 245 | 402 | 629 | 982 | 1559 | 2513 | 3927

Equivalent to 0.5 MPa

El © [
— =l =
=3 © KX

Note) The holding force (max. static load) shows the maximum capability and does not show the
normal holding capability. So, select an appropriate cylinder while referring to page 1030.

Standard Stroke

Bore size (mm)

Standard stroke (mm)

20, 25

5, 10, 15, 20, 25, 30, 35, 40, 45, 50

32, 40, 50, 63, 80, 100

10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

Manufacture of Intermediate Stroke

Description Spacer is installed in the standard stroke body.
Part no. Refer to “How to Order” for the standard model no. on page 1008.
Method Dealing with the stroke in 1 mm increments is available by

installing spacer with standard stroke cylinder.

Stroke range

Bore size (mm) Stroke range (mm)

20,25 1t0 50

32, 40, 50, 63, 80, 100 1to 100

Example

Part no.: CLQB40-47D-B
3 mm spacer is installed in standard cylinder CLQB40-50D-B.
B dimension is 79.5 mm.

Note) 240 to 8100 bumper spacers with intermediate strokes can be manufactured in 5 mm
increments from 55 to 95 mm.

=
=

=
[lle

=
-
—
=]



CLQ series

Theoretical Output

(e [F 3

Mounting Bracket Part No. (N)
B?:ﬁns]i)ze Foot Flange | Double clevis Bore size (mm) | Operating direction 03 OpSTEiig %r-esssure (Ea) 07
20 | CLQ-L020 | CLQ-F020 | CLQ-D020 20 IN 7 118 165
25 CLQ-L025 | CLQ-F025 | CLQ-D025 OIL’jT 1 ?g :gg ggg
32 CLQ-L032 | CLQ-F032 | CLQ-D032 25 ouT 147 245 344
40 | CLQ-L040 | CLQ-F040 | CLQ-D040 N 181 302 402
50 CLQ-L050 | CLQ-FO50 | CLQ-D050 32 ouT 241 402 563
63 CLQ-L063 | CLQ-F063 | CLQ-D063 40 IN 317 528 739
80 | CLQ-L080 | CLQ-FO80 | CLQ-D08O out 377 628 880
100 | CLQ-L100 | CLQ-F100 | CLQ-D100 50 IN 495 825 1150
Note 1) When f_erering foot bracket, order 2 pieces OIET Zi? 1333 1328
per cylinder. 63
Note 2) Parts belonging to each bracket are as out 935 1560 2180
follows. Foot, Flange: Body mounting 80 IN 1360 2270 3170
screws, Double clevis: Clevis pin, type C ouT 1510 2510 3520
retaining ring for shaft, Body mounting IN 2140 3570 5000
screws, Flat washer. 100 ouT 2360 3930 5500
Weight
Basic Weight: Mounting/Through-hole (Type B) (g)
Bore size Standard stroke (mm)
(mm) 5| 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100
20 * 184 | 199 | 213 | 227| 241 | 255| 270 | 284 | 298| 312| — | —
25 * 260 | 278 | 295| 312| 329 | 346 | 364 | 381 | 398 | 415 — | —
32 — | 407 | 430 | 453 | 475 | 498 | 521 | 544 | 566 | 589 | 754 | 867
40 — | 514 | 537 | 560 | 583 | 606 | 630| 653 | 676 | 699 | 883 | 1003
50 — | 838 874 | 910| 947 | 983 | 1019 | 1055 | 1092 | 1128 | 1421 | 1609
63 — [ 1202 | 1242 | 1283 | 1324 | 1365 | 1406 | 1447 | 1488 | 1529 | 1877 | 2088
80 — 2229 | 2297 | 2364 | 2432 | 2500 | 2568 | 2636 | 2704 | 2771 | 3344 | 3678
100 — | 3770 | 3860 | 3951 | 4041 | 4132 | 4223 | 4313 | 4404 | 4495 | 5299 | 5759
+ Through-hole and both ends tapped are common for sizes 820 and 925.
Basic Weight:
Mounting/Both Ends Tapped (Type A) (9)
Bore size Standard stroke (mm)
(mm) 10 15 20 | 25 30 35 40 | 45 50 75 | 100
32 405 | 429 | 453 | 475 | 499 | 523 | 546 | 569 | 593 | 763 | 879
40 542 | 568 | 593 | 619 | 644 | 670 | 695| 721 | 746 | 947 | 1079
50 883 | 922 | 962 |1002 [ 1041 | 1081 | 1121 | 1161 | 1200 | 1517 | 1723
63 1330 | 1377 | 1424 | 1471 | 1518 | 1565 | 1613 | 1660 | 1707 | 2099 | 2341
80 2468 | 2545 | 2623 | 2700 | 2778 | 2856 | 2933 | 3011 | 3089 | 3729 | 4113
100 4054 | 4154 | 4254 | 4355 | 4455 | 4556 | 4656 | 4757 | 4857 | 5730 | 6239
Additional Weight (9)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Magnet ‘ 35| 45| 64| 77| 118 | 158 | 261 | 380
Thread 6| 12| 26| 27| 53| 53| 120| 175
Rod end male thread = 4| 8| 17| 17| 52| 32| 49| 116
With rubber bumper -2 -3 -3 -7 -9 |-18 | =31 | -56
Foot type (Including mounting bolt) | 152 | 174 | 137 | 149 | 221 | 288 | 638 |1009
Rod side flange type (Including mounting bolt) | 127 | 149 | 174 | 208 | 351 | 523 | 998 | 1307
Head side flange type (Including mounting bolt) | 121 | 140 | 159 | 192 | 326 | 498 | 959 1251
Dol dore 1P g bttt 78 | 111 | 145 | 190 [ 373 [ 516 [1064 | 180
Calculation: (Example) CDLQD32-20DCM-B When a_ulo switches are_mounted, add the weight q( Fhe
« Basic weight . CLQA32-20D-C1 auto switch _and auto switch mounting bracket multiplied
* Additional weight: Magnet: by the quantity.
Rod end male thread----43g  Auto Switch Mounting Bracket Weight
\év(w)tlljwbzzbt?er‘bumper-- 1;‘;3 ‘Auto Switch mounting bracket part no. | Applicable bore size (mm) | weight (g)
- BQ-2 032 to 0100 15
7029 BQ2-012 03210 0100 5
BQP1-050 040 to 6100 16

1010

For the auto switch weight, refer to page 1119.
Refer to pages 1028 and 1029 for applicable auto switch

mounting bracke

ets.



Mounting Bolt for CCILQB

Mounting method: Mounting bolt for through-hole mounting
Refer to the following for ordering procedures.
Order the actual number of bolts that will be used.

Example) CQ-M5 x 55L 2 pcs.

CLQB: Without Auto Switch

Compact Cylinder with Lock
Double Acting, Single Rod

Flat washer

|

D

it

CLQ Sseries

J Mounting bolt

Note) Be sure to use the attached flat washers as the bearing
surface is small when mounting 250 to 6100 cylinders

from the rod side.

LJ2
LM2

EHEE

LG1
el L LR v L LR ool o LD e sl R L e \CL1
CLQB20-5D 55 [CQ-M5x 55L CLQB32-10D 65 [CQ-M5x 65L CLQB50-10D 80 |CQ-M6x 80L CLQB80-10D 100 |CQ-M10x 100 L
-10D 60 X 60L -15D 70 x 70L -15D 85 x 85L -15D 105 x105L MLGC
-15D 65 X 65L -20D 75 X 75L -20D 90 x 90L -20D 110 x110L
-20D 70 x 70L -25D 80 x 80L -25D 95 x 95L -25D 115 x115L CNG
-25D 105 75 x 75L -30D 85 x 85L -30D 100 x100L -30D 120 x120L
-30D ’ 80 x 80L -35D |7 90 x 90L -35D [12.5 | 105 x105L -35D (17 |125 x125L MNB
-35D 85 X 85L -40D 95 x %L -40D 110 x110L -40D 130 x130L
-40D 90 x 90L -45D 100 x100L -45D 115 x15L -45D 135 x135L CNAZ
-45D 95 x 95L -50D 105 x105L -50D 120 x120L -50D 140 x140L
-50D 100 x100L -75D 140 x140L -75D 155 x155L -75D 175 x175L CNS
CLQB25-5D 60 [CQ-M5x 60L -100D 165 x165L -100D 180 x180L -100D 200 x200L
-10D 65 X 65L CLQB40-10D 75 [CQ-M5x 75L CLQB63-10D 90 |CQ-M8x 90L CLQB100-10D 115 |CQ-M10x 115L CLS
-15D 70 x 70L -15D 80 X 80L -15D 95 x 9%5L -15D 120 x120L
-20D 75 x 75L -20D 85 x 85L -20D 100 x100L -20D 125 x125L CLQ
-25D 45 80 x 80L -25D 90 x 90L -25D 105 x105L -25D 130 x130L
-30D 85 x 85L -30D 95 X 9L -30D 110 x110L -30D 135 x135L RLQ
-35D 90 x 90L -35D | 8.5 100 x100L -35D (16,5 | 115 x115L -35D [15.5| 140 x140L
-40D 95 x 95L -40D 105 x105L -40D 120 x120L -40D 145 x145L MLU
-45D 100 x100L -45D 110 x110L -45D 125 x125L -45D 150 x150L
-50D 105 x105L -50D 115 x115L -50D 130 x130L -50D 155 x155L MI-GP
-75D 150 x150L -75D 165 x165L -75D 190 x190L
-100D 175 x175L -100D 190 x190L -100D 215 x215L MI-1C
CDLQB: Without Auto Switch
et Jc[o[Wbemt O [cp[mbi O [o[p [Vemwdt O [cp [k
CDLQB20-5D 65 [CQ-M5x 65L CDLQB32-10D 75 |CQ-M5x 75L CDLQB50-10D 90 |CQ-Mex 90L CDLQB80-10D 110 [CQ-M10x110L
-10D 70 x 70L -15D 80 X 80L -15D 95 x %L -15D| 115 x115L
-15D 75 X 75L -20D 85 x 85L -20D 100 x100L -20D| 120 x120L
-20D 80 x 80L -25D 90 x 9L -25D 105 x105L -25D 125 x125L
-25D 105 85 x 85L -30D 95 X 9L -30D 110 x110L -30D| 130 x130L
-30D 90 x 0L -35D | 7 100 x100L -35D [12.5| 115 x115L -35D|17 | 135 x135L
-35D 95 x 95L -40D 105 x105L -40D 120 x120L -40D 140 x140L
-40D 100 x100L -45D 110 x110L -45D 125 x125L -45D 145 x145L
-45D 105 x105L -50D 115 x115L -50D 130 x130L -50D 150 x150L
-50D 110 x10L -75D 140 x140L -75D 155 x155L -75D 175 x175L
CDLQB25-5D 70 |CQ-M5x 70L -100D 165 x165L -100D 180 x180L -100D 200 x200L
-10D 75 x75L  CDLQBA40-10D 85[coMsx 85L  CDLQBG3-10D 100 [caMgx100L  CDLQB100-10D 125 [cOM10x 1251
-15D 80 x 80L -15D 90 x 0L -15D 105 x105L -15D| 130 x130L
-20D 85 x 85L -20D 95 x 9%5L -20D 110 x110L -20D 135 x135L
-25D 85 90 x 90L -25D 100 x100L -25D 115 x115L 25D 140 x140L
-30D 95 X %L -30D 105 x105L -30D 120 x120L -30D 145 x145L
-35D 100 x100L -35D | 8.5| 110 x110L -35D [16.5 | 125 x125L -35D|15.5 | 150 x150L
-40D 105 x105L -40D 115 x115L -40D 130 x130L -40D| 155 x155L
-45D 110 x10L -45D 120 x120L -45D 135 x135L -45D 160 x160L
-50D 115 x15L -50D 125 x125L -50D 140 x140L -50D 165 x165L D_D
-75D 150 x150L -75D 165 x165L -75D 190 x190L
-100D 175 x175L -100D 190 x190L -100D| 215 x215L 'XI:l

1011



CLQ series

Construction: 20 to 232

A9

ZW :

Extension locking

WEEA

=il

Retraction locking

14 4

@i

Without magnet

With bumper Rod end male thread
Note) The sectional drawing above shows the locked condition. (A bolt is
used to maintain the cylinder in the unlocked condition when
shipped.)
Component Parts
No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy Hard anodized . )
- - 12 | Bushing Bearing alloy
2 Lock body Aluminum alloy Hard anodized
) . Extension locking: Chromated 13 | Bumper A Urethane
3 Intermediate collar Aluminum alloy -
Retraction locking: Hard anodized 14 | Bumper B Urethane
4 Lock ring Carbon steel Heat treated 15 | Tie-rod nut Carbon steel Nickel plated
5 Brake spring Steel wire Zinc chromated 16 | Magnet —
) Stainless steel 020, 25: Hard chrome plated 17 | Rod seal NBR
6 | Piston rod -
Carbon steel 032: Hard chrome plated 18 | Piston seal NBR
7 | Pivot Chromium steel | Electroless nickel plated 19 | Lockring seal NBR
8 Dust cover holding bolt Carbon steel 20 | Tube gasket A NBR
9 | Dustcover Stainless steel 21 | Tube gasket B NBR
©20: Nickel plated 22 | Scraper NBR
10 | Tie-rod Rolled steel 025: Zinc chromated 23 | Parallel pin Stainless steel JIS B 1354
©32: Black zinc chromated 24 | Rod end nut Carbon steel
11 | Piston Aluminum alloy 25 | Unlocking bolt | Chromium molybdenum steel




Construction: 240 to 100

Section A-A'
=] 1 = =
H I 1 H

Compact Cylinder with Lock
Double Acting, Single Rod

Retraction locking

CLQ Sseries

Without magnet

LJ2
LM2

HENHHEERHE

(=]
-
(7]

()
-
=]

=)
=
o

==

=
=

[lle

=
-
—
=]

With bumper Rod end male thread
Component Parts Note) The sectional drawing above shows the locked condition.
No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy Hard anodized 17 | Bumper A Urethane
2 Lock body Aluminum alloy Hard anodized 18 | Bumper B Urethane
3 Inter collar Aluminum alloy Chromated 19 ring Carbon tool steel | Phosphate coated
4 Lock ring Carbon steel Heat treated 240, Nickel plated
" n 20 | Tie-rod nut Carbon steel v —
5 Brake spring Steel wire Zinc chromated 050 t0 9100, Zinc chromated
s Collar Aluminum bearing alloy | 940: Hard anodized 21 Magnet —
Aluminum alloy casted | 050 to 6100: Chromated, painted 22 | Rod seal A NBR
7 Piston rod Carbon steel Hard chrome plated 23 | Rod seal B NBR
8 Lever Stainless steel 24 | Rod seal C NBR
9 Pivot pin Carbon steel Zinc chromated 25 | Piston seal A NBR
10 | Pivot key Carbon steel Zinc chromated 26 | Piston seal B NBR
11 | Dust cover holding bolt | Chromium steel 27 | Tube gasket A NBR
12 | Dust cover Rolled steel 28 | Tube gasket B NBR
. Rolled steel 240, Zinc chromated 29 | Scraper NBR
13 | Tie-rod
Carbon steel 050 or larger, Zinc 30 | Hexagon socket countersunk Chromium
14 | Unit holding bolt Carbon steel Nickel plated head screw molybdenum steel
15 | Piston Aluminum alloy 31 | Spring pin Carbon steel JIS B 2808 D'D
16 i Bearing alloy For 950 or larger only 32 Parallel pin Stainless steel JIS B 1354
33 | Rod end nut Carbon steel -XO

1013



CLQ series

Dimensions: 920, 25

Basic type (Through-hole/Both ends tapped common): CCILQB20/25

H thread effective depth C

2 x ©5.4 through

counterbore

2 x 2 x 09 depth of

M5 x 0.8 unlocking port

Extension locking

M5 x 0.8
Rod side cylinder port

55

7 depth (Unlocks when pressurized) VH
>
= Iy /
L
%
L s|w gt 7N a
[ | K] j% 7
= N\ u
0 B A\ ===
©
3.2 3.2 M5 x 0.8
2x2xM5x0.8 16 16 Head side cylinder port
w Dust cover (Manual unlocking unit)
L G B + Stroke
A + Stroke
N %“ ?ﬁ
e
Dust cover (Manual unlocking unit) M5 x 0.8 unlocking port
(Unlocks when pressurized)
Rod end male thread
H1
)
RSl
-
Rod end nut
H2
C1
X
L1
(mm)
Bore size Without auto switch | With auto switch
troke
(mm) Stroke range A B A B (o] D E G H | K L M Q ) U |VH|VW | W
20 510 50 51 19.5 | 61 29.5 7 10 36 27 M5 x 0.8 47 8 | 45 |255| 36 [39.2|212| 95|65 |19
25 510 50 58.5 | 22.5 | 68.5 | 32.5| 12 12 | 40 31 M6 x 1.0 52 10 | 5 28 42 432232 |10 7 215
Retraction Locking mmy Rod End Male Thread (mm)
BlenS | v | Wi Bt o] x Hi | H2 | La
* Dimensions for cylinders with a rubber bumper are the same as the
20 205 12 20 12 [14 | M8x125 | 5 [185 standard type above.
25 23 | 145 25 15 | 175 |[M10x1.25| 6 [225 «x Refer to page 1024 for details of rod end nuts and accessory brackets.

1014



Compact Cylinder with Lock .
Double Acting, Single Rod CLQ Series

Dimensions: 220, 925
Foot type: CLQL/CDLQL

Special
L G _ B +Stroke ca?p bolt
- CLJ2
N w— Foot TVPe (mm) CLMZ
{ ; ]_l § " A Bore size Stroke range Without auto switch With auto switch
: E=acd ST r:tv (mm) A B LS A B LS
X F\ 4x066 »% '3; © 58| X| |4 20 51050 | 682 195] 345] 782 | 295 | 445  |GLGT
iz — LS + Stoke 25 5to50 | 75.7] 225] 385 85.7 | 325 | 485
+ Stroke CL1
f Bhes® |G| L || x|y |z|s |x
B MLGC
Rod end nut 20 27 | 145|285 | 24 48 42 62 452 | 9.2
L. 25 31 |15 |325 | 26 52 46 66 |49.2 | 10.7
SN -
Foot bracket material: Carbon steel CNG
Surface treatment: Nickel plated
Rod side flange type: CLQF/CDLQF MNB
CNA2
2o B — et N
Rod Side Flange Type (mm) CNS
8l Bore size Without auto switch |With auto switch
2x06.6 "L G _|B+Stroke (mm) Stroke range A B A B CLS
. A+Stoke | 20 5050 | 61 | 195 | 71 | 295
25 5to 50 68.5 | 22.5 78.5 32.5 CLQ
- Bore size
Rod end nut ) FV|FX|FZ| G | L |L|S RLQ
L1 20 39 | 48 60 27 |14.5|28.5 | 40.7
25 42 52 64 31 15 32.5 | 44.2 MLU
Flange bracket material: Carbon steel
Surface treatment: Nickel plated MLGP
Head side flange type: CLQG/CDLQG
T— P
= PO Zo _
| e Head Side Flange Type ()
Bore size Strok Without auto switch |With auto switch
L G _|B +Stroke [8] FX 2x06.6 (mm) troke range A B A B
A+ Stroke Fz 20 51050 | 59 | 195 | 69 | 295
25 510 50 66.5 | 22.5 76.5 32.5
: Bore size
Rod FV | FX | FZ | G L | L | S
end nut (mm)
L1 20 39 | 48 60 27 | 45 | 185 | 40.7
25 42 | 52 64 31 5 225 | 44.2
Flange bracket material: Carbon steel
Surface treatment: Nickel plated
Double clevis type: CLQD/CDLQD
4xM5x0.8
Cap bolt
. 0CD hole H10 .
Shaft a9 @g Double Clevis Type (mm)
- B : Bore size Without auto switch With auto switch
2| L (mm) Stroke range A 5 oL x 5 oL
5,1 20 5 to 50 78 19.5 | 69 88 295 | 79
cy 25 51050 | 88.5 | 22.5 | 785 | 985 | 32.5 | 885
L G _| B+ Stroke_|CW| | RR CX:83 -
CL+ Stroke cz3: Boresize | cp|cu|cw|cx|cz| G | L |Li |RR| S
A + Stroke (mm)
20 8 |12 | 18 8 |16 | 27 |45 |185]| 9 [39.2
| . 25 10 14 | 20 | 10 | 20 | 31 |5 225| 10 |43.2
Sr?c?nut +Refer o page 1024 for details  Double clevis bracket material: Carbon steel | D~[]
of rod end nuts and accessory  syrface treatment: Nickel plated
L1 brackets.
«# Double clevis pins and -xl:l

retaining rings are included.

1015



CLQ series

Dimensions: 232

Both ends tapped type: CCOLQA32

& IS

2x4xM5x0.8

Basic type (Through-hole): CCOLQB32

Extension locking 1/8 (Re, NPT, G)
C, 5

M8 x 1.25 (Effective thread depth 13) BP unlocking port Rod side cylinder port

2 x 05.4 through unlocks when pressurized . 1/8 (Re, NPT, G)
2 x 2 x 09 depth of counterbore e o Head side cylinder port
| YRd depth N
96 /,
a 5 ] '
©
& Ne ] © &
Q
N n
AP \M="
QR >
&Q,'-‘ Dust cover
(Manual unlocking unit)
7 32 B + Stroke
¥
14, A + Stroke
034
5 4.5
Retraction locking
22,5 BP unlocking port
| 135 unlocks when pressurized
/
=S = P
(o) & ==
Bore size Stroke | Without auto switch | With auto switch
(mm) range A B A B
10 t 62 23
32 72 . gg R 72 33 Dust cover
: (Manual unlocking unit)
Rod end male thread
Port thread type BP M14x15
Re 18
NPT |
G M5 x 0.8
= Dimensions for cylinders with a rubber bumper are the
same as the standard type above.
=+ Refer to page 1024 for details of rod end nuts and 811
accessory brackets. Rod end nut 20.5
23.5
28.5

1016



Dimensions: 232
Foot type: CCOLQL32

Special

58 ||

LS + Stroke
A + Stroke

32

B + Stroke
A + Stroke

N
~
w
7. 32 B + Stroke 4x055
A + Stroke
285 Rod end nut
82| N

Double clevis type: CCOLQD32

4xM5x0.8
Cap bolt
Hole: 10 H10

7. 32 B + Stroke
1
CL+ Stroke
A + Stroke
+ Refer to page 1024 for details of rod end nuts and
accessory brackets.
28.5 Rod end nut s Double clevis pins and retaining rings are included.

cap bolt

Compact Cyl

Double Acting, Single Rod

Foot Type

inder with Lock

CLQ Sseries

(mm)
Bore size Without auto switch With auto switch
Stroke range
(mm) “"A [ B [1s | A[B [LS
32 10to 50 79.2 23 39 89.2 33 49
75, 100 89.2 33 49
Foot bracket material: Carbon steel
Surface treatment: Nickel plated
Rod Side Flange Type (mm)
Bore size Without auto switch |With auto switch
(mm) Stroke range A B A B
10to 50 72 23
82 33
32 75,100 82 33

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Head Side Flange Type

(mm)
Bore size S EED Without auto switch |With auto switch
(mm) “"A B[ A]B
10to 50 70 23
32 75, 100 80 33 80 s

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Double Clevis Type (mm)
Bore size Without auto switch With auto switch
Stroke range
(mm) “"A B CL[A[B]cCL
32 10to 50 92 23 82 102 33 o
75,100 102 33 92

Double clevis bracket material: Cast iron
Surface treatment: Painted

1017

LJ2
LM2

L

()

El © [
— =l =
=3 © KX

==

=
=

[lle

=
-
—
=]

b

o



CLQ series

Dimensions: ¢40

Basic type (Through-hole): CCILQB40

Both ends tapped type: CCILQA40

2x4xM5x0.8

YW A%

3.2 3.2
16 | L6 |
Extension locking
1/8 (Re, NPT, G)
45 Rod side cylinder port 8

M8 x 1.25 (Effective thread depth 13)

2 x ©5.5 through
2 x 2 x 09 depth of counterbore

A, B Dimensions (mm)
Bore size | Stroke range| Without auto switch | With auto switch
(mm) (mm) A B A B
10 to 50 70.5 29.5
40 80.5 39.5
75, 100 80.5 39.5
Port thread type BP \'
Rc
NPT 18 11
G M5 x 0.8 13

+ Dimensions for cylinders with a rubber bumper are the

same as the standard type above.
=+ Refer to page 1024 for details of rod end nuts and

accessory brack

1018

ets.

1/8 (Re, NPT, G)

Head side cylinder port

016

Retraction locking

H
A
\
T
BP unlocking port Dust cover
Unlocked when pressurized (Manual unlocking unit)
7 34 B+ Stroke
A + Stroke

27.5

€D

Faa
2 <

BP unlocking port

Dust cover
Unlocked when pressurized

(Manual unlocking unit)

Rod end male thread

M14x 1.5

Rod end nut

20.5
23.5

28.5



Compact Cylinder with Lock
Double Acting, Single Rod

Dimensions: ¢40

Foot type: CCILQLA40

7 .34 B + Stroke
Special
cap bolt
4
LS + Stroke
A + Stroke

Rod
end nut

[
A

Rod side flange type: CCOLQF40

A p” 4
54

4 x 055

B + Stroke
A + Stroke

Rod
end nut

4x05.5

=

34 _|B+Stroke _|8|

A + Stroke

Double clevis type: CCILQD40

Rod
end nut

28.5

4 xM5x0.8
6, Cap bolt
Hole: 010 H10
Shaft d9 ;
Bz
B
14
7], 34 B + Stroke | 22 10
CL+ Stroke
A + Stroke
Rod + Refer to page 1024 for details of rod end nuts and
end nut accessory brackets.
28.5 +# Double clevis pins and retaining rings are included.

CLQ Sseries

Foot Type mm) [or
Bore size  |giroke range Without auto switch With auto switch
(mm) A B LS A B LS
40 10to 50 87.7 | 295 | 475 977 | 395 | 575
75, 100 97.7 | 395 | 57.5

Foot bracket material: Carbon steel
Surface treatment: Nickel plated

Rod Side Flange Type (mm)
Bore size  |gyoue range Without auto switch |With auto switch
(mm) A B A B
10to 50 80.5 | 29.5
90.5 39.5
40 75,100 90.5 | 39.5

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Head Side Flange Type

(mm)
Bore size  |gyoue range Without auto switch |With auto switch
(mm) A B A B
10to 50 785 | 295
40 75, 100 88.5 | 39.5 885 395

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Double Clevis Type (mm)
Bore size |giroke range Without auto switch With auto switch
(mm) A B CL A B CL
40 10to 50 1025 | 29.5 | 92.5 1125 | 395 | 1025
75,100 1125 | 39.5 | 1025

Double clevis bracket material: Cast iron
Surface treatment: Painted

El © [
— =l =
=3 © KX

==

=
=

[lle

=
-
—
=]



CLQ series

Dimensions: 50
Both ends tapped type: CCOLQA50

v
—le———————

3.2 32
2xaxmext/ 18 18
Basic type (Through-hole): COLQB50 Extension locking [«
1/4 (Re, NPT, G)
Rod side cylinder port 105

47

M10 x 1.5 effective thread depth 15

1/4 (Re, NPT, G)
Head side cylinder port
1T

I
i
8
Q
K P
16 . —
| e —
=
Dust cover ©
(Manual unlocking unit) §

4x013 ;

depth of counterbore BP unlocking port 4xo11

95 depth Unlocked when pressurized depth of counterbore
B+ Stroke  8depth

35
A + Stroke

With fat washer 4 pes. | 8

7 \4 x06.6

Retraction locking

Vi
A, B Dimensions (mm) :@
Bore size |Stioke range] Without auto switch | With auto switch = P Vo
(mm) (mm) A B A B A L\
101050 | 735 30.5 =
50 835 40.5 g —

75,100 | 835 40.5 ﬁ\

T
\Dust cover BP unlocking port
Unlocked when pressurized

(Manual unlocking unit)

Rod end male thread

Port thread type BP \J Vi1 M18x 1.5
Re 18 13 28
NPT
G M5 x 0.8 15 30.2 —
= Dimensions for cylinders with a rubber bumper are the
same as the standard type above. 7L/
=+ Refer to page 1024 for details of rod end nuts and
accessory brackets.
AN
Rod end nut 26
28.5
33.5

Note) Be sure to use the attached flat washers when mounting a cylinder from the rod side.

1020



Dimensions: @50

Foot type: CCILQL50

o 1 [

Rod end nut

B + Stroke

LS + Stroke
A + Stroke

Sa=|

Rod side flange type: CCOLQF50

W e e ——
(@ N ;
‘ 4x066 [wte
76 =222 18| 35 | B + Stroke
89 A + Stroke
Rod end nut T >
435

cap bolt

B + Stroke
e |

A + Stroke

Double clevis type: CCOLQD50

Rod
end nut

7

¥

4 x M6 x 1
Cap bolt
014 Hole H10
Shaft d9

Special

4 x 06.6

B + Stroke

CL+ Stroke
A + Stroke

Compact Cylinder with Lock
Double Acting, Single Rod

CLQ series

LJ2
LM2

HEH

Foot Type (mm)
Bore size  |gy 010 range Without auto switch With auto switch MLGC
() A[BJ[LS[A[BIJ[LS
50 10to 50 91.7 | 305 | 425 101.7 | 405 | 525
75, 100 101.7 | 40.5 | 52.5

Rod Side Flange Type

Foot bracket material: Carbon steel
Surface treatment: Nickel plated

(mm)
Boresize gy oke range Without auto switch |With auto switch
(mm) A B A B
50 10to 50 83.5 | 30.5 235 405
75, 100 93.5 | 405

Flange bracket material: Carbon steel
Surface treatment: Nickel plated

Head Side Flange Type

(mm)

Bore size  |gyoue range Without auto switch |With auto switch
(mm) A B A B
10to 50 825 | 30.5
92.5 40.5
s0 75, 100 925 | 405
Flange bracket material: Carbon steel
Surface treatment: Nickel plated
Double Clevis Type (mm)
Bore size  |gy 010 range Without auto switch With auto switch
() A[BJcL|[A[BT]CL
50 10 to 50 1155 | 30.5 | 1015 1255 | 405 | 1115
75,100 125.5| 405 | 1115

« Refer to page 1024 for details of rod end nuts and
accessory brackets.
+# Double clevis pins and retaining rings are included.

Double clevis bracket material: Cast iron
Surface treatment: Painted

Ho0H

El © [
=l =
=3 © KX

MLU

==
ol s
o || o

D-O



CLQ series

Dimensions: 263, 80, 3100

Both ends tapped type: CCILQA63/80/100

e
H o
H : =
2 x4 x O thread:
Xx4x reads lre Rel|_
RA RA
Basic type (Through-hole): CCILQB63/80/100
Extension locking [«@¥Loc] P (Re, NPT, G)
H effect c 9 -Q Rod side cylinder port
effective thread depth v P (Re, NPT, G) r
[~ Head side cylinder port
1] |
T " —
i T —
0 I
o] V
4, A |y
Tl e
= -
EA ! O
Dust cover z
éx ohOIt\ (Manual unlocking unit) & éex fiof
eplh o BP Unlocking port P o
With flat Unlocked when pressurized
washer 4 pcs. | L G B + Stroke
A + Stroke
Retraction locking
Retraction Locking (mm)
Bore size Vi
= e
(mm) Re [NPT[ G =
63 305 33 IS s ~
80 355 37.7 ‘2l %% %
100 40.5 41.5
\\ S
T
\Dusl cover BP Unlocking port
(Manual unlocking unit)  Unlocked when pressurized
Rod end male thread
H1
Rod End Male Thread (mm)
Bore size (mm)| Ci1 X Hi1 H2 L1 —
63 26 | 285 | M18x15 | 11 | 335 kv
80 325 | 35.5 M22 x 1.5 13 43.5
100 325 | 355 | M26x15 | 16 | 435 Y
+ Dimensions for cylinders with a rubber bumper are the Rod end nut | (Hz|
same as the standard type above. C1
«+ Refer to page 1024 for details of rod end nuts and X
accessory brackets. L1

Note) Be sure to use the attached flat washers when mounting a cylinder from the rod side.

(mm)
Bore | Stroke |, fotot |8 miich BP
size | range C DE|F|IG| H |[I|J|K|L|M|N|] O |OA| OB |P |QRARB|T |V |Z
(mm) (mr?]) A|B|A|B|RNPT G
101050 | 82 |36
63 @ |46 | 18 |Msx08| 15| 20| 77]105|38 | Mtox15|108|7 |17| 8|60| o|mext2s| 2O | 1 14|53 16 |42 |16 16519
75,100 | 92 |46 depth 12 |depth 10.5|
10050 | 95435
80 1065(535| 18 | 1/8 | 21| 25| 98|125| 43 | Mi6x20 [132|6 |22 |10 |77 | 11 |mtox1s| 28 | 175 lag |50 |16 |42 |2 |185]26
75,100 [1065|53.5 depth 15.5|depth 13.5
10050 | 115 |53
100 125 (63 | 14 | 14 | 27|30 |117]13 |50 | M20x25 |156| 65|27 |12 | 94 | 11 |mtox1s| 28 | 175 Lag |73 |16 |4a2|2 |28 |26
75,100 | 125 | 63 deph 15.5|depth 13.5

1022



Compact Cylinder with Lock .
Double Acting, Single Rod CLQ Series

Dimensions: 263, 280, 100

Foot type: CLQL/CDLQL

L G __B+Stroke Foot Type (mm)
|, Bore size Stroke | Without auto switch | With auto switch
? / N ? Soocil (mm) range [ABJLs| A[BJ[Ls| |~ |[CLJ2
KC\ 3 cap bot 63 101050 1002136 148 1105146 |58 | 38 | 18
\/ 75,100 [1102(46 |58 CLM2
80 101050 [118 [43.5[565| o | ol ges| a3 | 20
: 75,100 [128 |53.5 [66.5 ) )
‘ t; Ll e 100 101050 1138 53 169 1145 63 |70 | 50 | 22 CLG1
A + Stroke 75,100 |148 |63 |79 cL1
B‘z[ﬁms')ze Li |[LD LG |LH|LT |LX|LY|LZ| X | Y
| 63 435[ 11 [ 5 |46 [32] 95] 915[113[162] 9 MLGC
80 535 13 | 7 |59 |45 [118[114 [140 [195]11
}i 100 535 13 | 7 | 71 |6 |137 1% |162]23 [125 |CNG
Rod end nut L1 Foot bracket material: Carbon steel
Surface treatment: Nickel plated MNB
Rod side flange type: CLQF/CDLQF Rod Side Flange Type (mm)
@ @PWQ@Q Bore size Stroke | Without auto switch | With auto switch CNAZ
i o (mm) ange A [ B [ A B |P|FT
3 i =P = =—— totoso [ 92 [36 [, |, CNS
@&/ I E— 63 75,100 | 102 46 o 6 ° °
oM R [ — 101050 | 106.5 [ 435
g 1165 | 535 | 11 | 11
FX ‘ Na xoFD [-LIFT 20 75,100 | 116.5 | 53.5 ‘CLS
FZ L|. G | BStoke 10to50 [125 [ 53 [ .o [ o 1 |
A + Stroke 100 75,100 | 135 | 63 (HID]
B"([ﬁms')ze FV | FX [FZ | G | L |L |m RLQ
| 63 80 | 92 | 108 | 38 | 18 | 435 | 60
80 99 | 116 | 134 | 43 | 20 |535| 77 MLU
100 117 | 136 | 154 | 50 | 22 |535| 94
Rod end nut L1 Flange bracket material: Carbon steel MLGP
Surface treatment: Nickel plated
Head Side flange type: CLQG/CDLQG Head Side Flange Type mm) |ML1C
5 Bore size Stroke | Without auto switch | With auto switch D | FT
e (mm) range A B A B
g [ | 3 10to50 | 91 [ 36 |, [ 0 o | o
& - 75,100 | 101 | 46
: 80 10to50 [ 1075 [ 435 [ oo oo | 44 | 44
L G | B+ Suoke T X 4xoFD 75,100 | 117.5 | 535 } )
LAAAAAAAAAAAJ 101050 | 126 | 53
A + Stroke FZ 100 75,100 | 136 |63 ] '°¢ | 62 1| 1
Bl [PV X |Fz| G| L |L|m
L 63 80 | 92 | 108 | 38 8 |335]| 60
Rod end 80 99 | 116 | 134 | 43 | 10 [435] 77
nut L1 100 117 | 136 | 154 | 50 12 | 435 | 94
Flange bracket material: Carbon steel
) Surface treatment: Nickel plated
Double clevis type: CLQD/CDLQD .
CT. A4x Head Side Flange Type (mm)
ng th:1 . Bore size Stroke | Without auto switch | With auto switch colcr
(DD @;‘E (mm) range A [ B [CL| A][B][CL
i 101050 [126 |36 |12
1 46 [122 | 14
, 5 {1 63 75,100 [136 |46 |122 % | 8
= 80 e e 1625 505 | s | 18 | 10
182 53 [160
L||. G _|.B+stroke | C RR 100 10to 50 192 |63 |170 | 22 | 13
ELs Stroke 75,100 [192 |63 170
A + Strok i
Stoe e |culew|ex|cz|G L |L| N |RR
63 20 | 30 [ 22 | 44 | 38 | 8 [33.5| M8x1.25 | 14
- 80 27 | 38 | 28 [ 56 | 43 | 10 [435] miox15 [ 18 (D-[]
= Refer to page 1024 for details of rod end nuts and 100 31 45 | 32 | 64 | 50 | 12 |435] M10x15 | 22
Rod end accessory brackets. Double clevis bracket material: Cast iron _xl:l
nut L1 +# Double clevis pins and retaining rings are included. Surface treatment: Painted

1023



CLQ series
Accessory Bracket Dimensions

Single Knuckle Joint Double Knuckle Joint
————————————————
1-G02, I-G03 1-G04, I-G05 Y-G02, Y-G03 Y-G04, Y-G05
-G08, I-G10 Y-G08, Y-G10
Hole: oND H10 Hole: oND H1o
Shaftds Shaft ds
MM oNDH10 pLLL L
M
C58 N
- () LY
i PR 69 J e
A1l U1 NX
L1 NX NZ '
A
Material: Rolled steel Material: Cast iron Material: Rolled steel Material: Cast iron
Surface treatment: Nickel plated Surface treatment: Nickel plated Surface treatment: Nickel plated Surface treatment: Nickel plated
(mm) (mm)
Partno. (¥ A | A1 | E1|L1| MM [RR1| U1 | ND | NX Partno. |¥ietetss| A | A1 | E1| L1 | MM |RRi| Ur| ND
1-G02 | 20 |34 | 85|0116] 25 | M8x1.25[103 [115| 8'0°®| 877 Y-G02| 20 | 34 | 85|16 25 | M8x1.25 | 10.3 | 115| 800
1-GO3 | 25 | 41 |10.5|0020] 30 | Mi0x125 | 128 |14 | 105%™ | 1095 Y-G03| 25 | 41 [ 105 [020] 30 [ M10x1.25 [ 128 ] 14 | 1000
1-GO4 [32,40| 42 |14 |©22] 30 | Mi4x15 |12 |14 | 10*9°%® | 1832 Y-G04|32,40| 42 | 16 | 22| 30 | M14x15 |12 |14 | 10°9%®
1-GO5 |50,63| 56 |18 |028| 40 | Mi8x15 [16 [20 |[14'9°7°| 2252 Y-G05 |50,63| 56 | 20 | 228| 40 | M18x1.5 |16 |20 | 1400
-G08 | 80 |71 |21 |©38|50 | M2x15 |21 |27 |18°9°°| 2892 Y-Go8| 80 | 71 [23 | 038 50 | M22x15 [21 |27 | 1800
I-G10 | 100 | 79 |21 |o@44| 55 | M26x15 |24 |31 | 229 | 3293 Y-G10| 100 | 79 |24 | 044| 55 | M26x15 |24 |31 | 2279%
 Applicable bor Applicable pir
Partno. |¥Z™| NX | NZ | L \RZaeeen
Y-Go2| 20 24l 16 |21 | Iv-Go2
Y-G03| 25 | 1024 | 20 | 256 | IY-GO3
Y-G04 32,40 18 105 | 36 | 41.6 | IY-G04
Y-GO05 | 50, 63| 22 25 | 44 | 506 | IY-GO5
Y-GO8| 80 | 2825 |56 |64 |IY-GO8
Y-G10| 100 | 3225 | 64 |72 |IY-G10
* Knuckle pins and retaining rings are included.
Knuckle Pin (Common with double clevis pin) Rod End Nut
o
- HL 'g 3
1ol
m L1 m
ﬁ L N
t Nt H
Material: Carbon steel Material: Rolled steel
(mm) (mm)
Applicable b Applicable Applicable bore
Part no. | *Ppibetoe| L|d|L|m|t retg%ing e Part no. T d H B c
1Y-G02 20 8 oose |21 | 7.6[162]15 |09 |TypeC8foraxis NT-02 20 M8 x 1.25 5 13 15.0
1Y-G03 25 10 290% | 25.6| 9.6 |20.2 | 1.55 | 1.15 | Type C 10 for axis NT-03 25 M10 x 1.25 6 17 19.6
1IY-GO4 | 32,40 | 10 29832 |41.6| 96362 1.55 | 1.15 |Type C 10 foraxis NT-04 32, 40 M14x 1.5 8 22 25.4
IY-GO5 | 50,63 | 14 29050 | 50.6 | 13.4 | 44.2 | 2.05 | 1.15 |Type C 14 for axis NT-05 50, 63 M18 x 1.5 11 27 31.2
1Y-Go8 80 18 3359 |64 |17 |56.2| 255 | 1.35 |Type C 18for axis NT-08 80 M22 x 1.5 13 32 37.0
1Y-G10 100 22 099 |72 |21 | 642|255 | 1.35 |Type C 22 foraxis NT-10 100 M26 x 1.5 16 4 47.3

* Retaining rings are included.

1024



Accessory Bracket Dimensions CLQ Series

Simple Joint: 32 to 100

Type A Mounting Bracket

2xoD
T
1l —
| 7 CLJ2
%k \ “
= 11 g = e CLM2
o U e
T el ==
W 7 y T e CLG1
Joint
i o
E -E. MLGC
. B .| Material: Chromium molybdenum steel (Nickel plated)
- - o) NG
Joint and Mounting Bracket (Type A, Type B) Part No. Tond
ore size
Part no. B D E F M T1 T2
- MNB
- m YA-03| 32,40 | 18 | 68| 16 | 6 | 42 6.5 10
YA-05| 50,63 | 20 | 9 | 20 | 8 | 50 6.5 12 CNA2
Applicable air YA-08| 80 26 |11 | 25 | 10 | 62 8.5 16
cylinder bore YA10] 100 [ 31 [14 |30 [ 1276 ]| 105 18 N
. 03 032, 040 - CNS
Mounting bracket 05 050, 063 Part no B"(Lﬁ r:l)ze U | V| W | weight()
YA | Type A mounting bracket 08 080 CLS
YB | Type B mounting bracket 10 2100 YA-03| 32,40 6 18 56 55
YU Joint YA-05| 50, 63 8 | 22 67 100 CLQ
YA-08 80 10 | 28 | 83 195
YA-10| 100 | 12 | 36 | 100 340 RLQ
Bore size Joint Applicable mounting bracket
oint
(mm) Type A mounting bracket | Type B mounting bracket .
Type B Mounting Bracket MLU
32,40 YU-03 YA-03 YB-03 yP 9
50, 63 YU-05 YA-05 YB-05 MLGP
80 YU-08 YA-08 YB-08 —
100 YU-10 YA-10 YB-10 o @7 ML1C
N >
Allowable Eccentricity S I s *%
Bore size (mm) 32 [ 40 [ 50 [ 63 [ 80 [ 100 LN =
Eccentricity tolerance +1 +1.5 | £2 ’E[:’ Joint g I
Backlash 0.5 [ 1|
<Ordering> T 2xaD through *JJ E
« Joints are not included with the A or B type mounting brackets. .B.] 2x00 depth of counterbore
Order them separately.
(Example) Material: Stainless steel
Bore size 240 Part no. (mm)
* Type A mounting bracket part number------YA-03
+ Joint YU-03 Partno.[Bo®Sze | B | p | E | J | M o
| (mm)
Joint YB-03| 32,40 | 12| 7| 25| 9| 34 11.5 depth 7.5
< W YB-05| 50,63 | 12 | 9 |32 | 11 | 42 14.5 depth 8.5
é (With locking) YB-08| 80 16 | 11 | 38 | 13 | 52 18 depth 12
-g] R gl YB-10| 100 19 | 14 | 50 | 17 | 62 21 depth 14
ut L Bore size .
UA | C | Material: Chromium molybdenum steel (Nickel plated) Part no. (mm) i L 2 V| W | Weight(g)
(mm) YB-03| 32,40 9 6.5 10 18 | 50 80
Applicable bore Weight
Partno. |APplcablebo®|ya| ¢ |1 |d2| H | K| L |UT|'S voos| s00a | T -
YU-03 | 32,40 |17]11]158)14] Mex12s 7] 6] 25 - g 65 & 0
YU-05 50, 63 17 (1319818 | M10x15 | 10| 7| 6| 40 YB-08 80 14 85 16 28 | 75 230 D'I:l
YU-08 80 22|20 |248 (23| M16x2 | 13| 9| 8| 90
YU-10 100 | 26|26|298]28 | Meox25 | 14 | 11 | 10 |160 YB-10| 100 | 18| 105 18 36 | 90 | 455 XOJ

1025



CLQ series
Auto Switch Mounting 1

Minimum Auto Switch Mounting Stroke

(mm)
D-A90IV D-MOOW
No.ofauto | D-MOOV | D-A700 A Simggf\y et gj;smv\\’lv
switches | D-F700V D-A80 -A90) - D-A79W D-P3DWA | D-PADW
mounted D-J79C D-A73C D-M9O] D-F700WV g-éggH D-F7BA
B D-F7BAV | DF7C D-F79F
1 pc. 5 5 10 10 15 15 20 15 15
2pcs. 5 10 10 15 15 20 20 15 15

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

2020, 25
B
= —— -z
hé ST —F-—F
A
232 to 5100
=By
B e e |
G N Fan)
] J N %
e e
A

D-M9O]
D-M9CIW
D-M9TIA
D-A90]

e

D-M9C
D-M9CIW
D-M9CJA
D-A90

%5/—‘&4 [

D-MoCIV
D-M9CIWV
D-M9CIAV
D-A9ClV

Auto Switch Proper Mounting Position (mm)

Auto switch D-M91
model D-M9CIV
D-M9OW D-A90
D-M9OWV D-A90V
D-M9TIA
Bore size D-M9DIAV
(mm) A B A B
20 37 7.5 33 3.5
25 42 9.5 38 5.5
32 44 9 40 5
40 50 1.5 46 7.5
50 49 14.5 45 10.5
63 54.5 175 50.5 135
80 63.5 21 59.5 17
100 74 27 70 23

Auto Switch Mounting Height (mm)

Auto switch D-M9CIV
model|  p.MoOWV D-A90V
D-M9TJAV
Bore size
(mm) Hs Hs
20 25 225
25 27 245
32 29 27
40 32.5 30.5
50 38.5 36.5
63 42 40
80 52 50
100 62 60

Note) Adjust the auto switch after confirming the operating conditions in the actual setting.

1026



Auto Switch Mounting CLQ Series

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

D-A70 D-F70O0W D-A80C 232 to 2100 o
D-A80 D-J79W D-J79C
D-A70H D-F79F D-A79W
D-A80H D-F7NT D-F70O0WV —
D-F70 D-F7BA D-F70V " &
D-J79 D-A73C D-F7BAV T
u
D-P3DWA A
925 B _Hs 232 to 2100 B
| T —
H 1T o0k SN
5 0 = N %\mj AR % Y
@g o T
A A
D-P4DW
240 to 2100
) —
- S )
A ©-0 H 00 =
H ==l
= =
‘ A B
Auto Switch Proper Mounting Position (mm)
Auto switch D-A72/A7CH
model D-A80H/A73C
D-A80C/F7BAV
D-A73 D-F7BA/F79F
D-A80 D-F7OW/F700 D-F7NT D-A79W D-P3DWA D-P4DW
D-J79/F700V
D-J79C/J79W
Bore size LHFONAY
(mm) A B A B A B A B A B A B
20 — — — — — — — — — — —
25 — = = = — = = = 375 5 = =
32 41 6 415 6.5 46.5 1.5 385 3.5 39.5 45 — —
40 47 8.5 47.5 9 52.5 14 44.5 6 45.5 7 43 4.5
50 46 11.5 46.5 12 51.5 17 43.5 9 44.5 10 42 7.5
63 515 14.5 52 15 57 20 49 12 50 13 47.5 10.5
80 60.5 18 61 18.5 66 23.5 58 15.5 59 16.5 56.5 14
100 71 24 71.5 24.5 76.5 29.5 68.5 21.5 69.5 22.5 67 20
Note 1) Adjust the auto switch after confirming the operating conditions in the actual setting.
Note 2) For bore sizes 832 to 850, the D-P3DWA is mountable only on the port side.
Auto Switch Mounting Height (mm)
Auto switch D-A700H
model D-A80H
D-F70
D-J79 D-F700V
DTS | D-F70w | D-AT3C | D-F70WV | D-479C | D-A79W (D-P3DWA| D-PADW
D-J79W D-F7BAV
D-F7BA
D-F79F
Bore size D-F7NT
(mm) Hs Hs Hs Hs Hs Hs Hs Hs
20 — — — — — — — —
25 = = = = = = 33 =
32 31.5 32.5 38.5 35 38 34 35.5 —
40 35 36 42 38.5 41.5 37.5 39 44
50 41 42 48 44.5 47.5 43.5 45 50
63 47.5 48.5 54.5 51 54 50 48.5 56.5
80 57.5 58.5 64.5 61 64 60 58.5 66.5
100 67.5 68.5 745 71 74 70 68.5 76.5

LJ2
LM2

HEH

=
=
[-r]
3

[=)
=
=
~

(]
=
(7]

()
r
«

()
—
[=]

L

== ==
=
s|E|o

L1C



CLQ series
Auto Switch Mounting 2

Operating Range

(mm)

Auto switch model Boreisizel(mm)

20 25 32 40 50 63 80 100
D-M9LC/MILIV
D-M9CIW/MICIWV 45 45 5 5 6 6.5 6.5 7.5
D-M9CIA/MOCIAV
D-A901/A9CIV 10 10 9.5 9.5 9.5 115 9 115
D-A70/F700H
g:ﬁgggao“ — — 12 1 10 12 12 13
D-A80C
D-A79W — — 13 14 14 16 15 17
D-F70/F700V
D-J79/J79C
D-F7OW/F7O0WV
D-J79W — — 6 6 6 6.5 6.5 7
D-F7BA/F7BAV
D-F7NT/F79F
D-P3DWA — 5 6 6 7.5 6.5 6.5 7.5
D-P4DW — — — 5 5 5 5.5

+ Since this is a guideline including hysteresis, not meant to be guaranteed. (Assuming approximately +30% dispersion)
There may be the case it will vary substantially depending on an ambient environment.

= Auto switch mounting brackets BQ2-012 are not used for sizes over 832 of D-A90I(V)/M9ICI(V)/MITIW(V)/MITIA(V) types.
The above values indicate the operating range when mounted with the conventional auto switch installation groove.

Auto Switch Mounting Bracket: Part No.

Auto switch Bore size (mm)
mounting 220 \ 225 232, 040, 050 063, 080, 0100
surface Port side Port side Port side
F % \@
%?\ i
A
|
g
@A ©)
=0
B
Auto switch Auto switch mounting surface Auto switch mounting surface Auto switch mounting surface
model Port, A, B, C sides Port side A, B, C sides Port, A, B, C sides
1.BQ-2
2.BQ2-012
Two kinds of auto switch mounting
brackets are used as a set.
D-M9oC]
D-M9CIV Set screw
D-M9CIW Auto switch (not used)
D-M9CIWV Auto switch mounting mounting Auto switch mounting
D-M9LJA bracket not required. bracket not bracket not required.
D-M9CJAV required.
D-A90]
D-A9CIV
\ Auto switch mounting | Aut _ Auto switch mounting
[HARIE bracket not required. | bracket not equired bracket not required.

Note 1) For each cylinder series, when a compact auto switch is mounted on the three sides (A, B and C above) other than the port side of bore
sizes 032 to 050, the auto switch mounting brackets above are required. Order them separately from cylinders.
(It is the same as when mounting compact cylinders with an auto switch mounting rail, but not with 863 to 6100 compact auto switch
installation groove.)

Example order

CDLQB32-50-M9BW

BQ-2 2 pcs.

1 unit

BQ2-012 2 pes.
Note 2) Auto switch mounting brackets and auto switches are shipped together with cylinders.

1028



Auto Switch Mounting CLQ Series

Auto Switch Mounting Bracket: Part. No.

Bore size (mm)

Auto switch model
25

32 [ 40 [ 50 [ 63 | 80 | 100

D-A701/A80
D-A73C/A80C
D-A70H/A80H
D-A79W
D-F70/J79
D-F700V —
D-J79C
D-F7O0W/J79W
D-F7O0WV
D-F7BA/F7BAV
D-F79F/F7NT

BQ-2

D-P4DW

BQP1-050

Note 1) Auto switch mounting brackets and auto switches are shipped together with

cylinders.

can be mounted.

[Mounting screw set made of stainless steel]
The following set of mounting screws made of stainless steel
(including nuts) is available. Use it in accordance with the operating
environment. (Please order BQ-2 separately, since the auto switch
spacer (for BQ-2) is not included.)

BBA2: For D-A7/A8/F7/J7 types
Water resistant auto switches, D-F7BA/F7BAV are set on the
cylinder with the stainless steel screws above when shipped. When
an auto switch is shipped independently, BBA2 is attached.

Note 1) Refer to page 1229 for the details of BBA2.

Note 2) When mounting D-M9CJA(V) on a port other than the ports for 632, 640 and

250, order auto switch mounting brackets BQ2-012S, BQ-2 and stainless
steel screw set BBA2 separately.

Auto Switch Mounting Bracket Weight

i o o g
BQ-2 1.5
BQ2-012 5
BQP1-050 16

Other than the applicable auto switches listed in “How to Order”, the following auto switches
or details, refer to pages 1119 to 1245.

# For solid state auto switches, auto switches with a pre-wired connector are also available. Refer to pages 1192 and 1193 for details.
+ Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H types) are also available. Refer to page 1137 for details.
= D-A7/A8/F7/J7 types cannot be mounted on 620 and @25.

e o o o o o e o e e e e e e e e e e e

1
1
! Auto switch type Model Electrical entry Features
1 (Fetching direction)
1 D-A73 ) —
1 Grommet (Perpendicular) - — -
1 Reed D-A80 Without indicator light
1 D-A73H, A76H . —
Grommet (In-line) - — -

1 D-A80H Without indicator light
1 D-F7NV, F7PV, F7BV —
1 D-F7NWV, F7BWV Grommet (Perpendicular) Diagnostic indication(2-color indicator)
1 D-F7BAV Water resistant (2-color indicator)
1

f D-F79, F7P, J79 —
1 Solid state - — -
I D-F79W, F7PW, J79W Diagnostic indication(2-color indicator)

D-F7BA Grommet (In-line, Water resistant (2-color indicator)

1
1 D-F7NT With timer
1 D-P5DW Magnetic field resistant (2-color indicator)
1
1

CLJ2
CLm2
CLG1

EHEE

Sll=lloll=|o
= —

=sEll=x=|sl|r
N o | D || =

(=]
-
(7]

===
A== o

=
-
—
=]



CLQ series

Ak

Switch Precautions.

Specific Product Precautions 1

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto

‘ Selection
/A Warning
1. The holding force (max. static load) indicates the maximum Locking, Rubber Bumper  Retraction Locking, Rubber Bumper
capability to hold a static load without vibration and impact. 1000 1000
The maximum load in a locked state should be below 50 % of
the holding force (max. static load).
Refer to 6 when the kinetic energy of the workpiece is absorbed at | |  Fe====== =
the cylinder end or eccentric loads are applied. 100 o=z S 100 2
2.Do not use for intermediate stops while the cylinder is
operating. — 0100 | |~ [Feeees 2100
This cylinder is designed for locking against inadvertent movement g P 280 S 080
with the locking mechanism from a stationary condition. Do not a o— 263 2 1o - 063
perform intermediate stops while the cylinder is operating, as this g 050 g 250
may damage the cylinder, cause unlocking malfunction or shorten 2 e 20
the service life. S 040 S ”32
3. Select the correct locking direction, as this cylinder does not ;§§ 225
generate holding force opposite to the locking direction. 1 220 1 220
The extension locking does not generate holding force in the
cylinder's retracting direction, and the retraction lock does not . | = —————t—— | | = F———— WD
generate holding force in the cylinder’s extension direction. * g‘i mg: r o:i MP: T
4.Even when locked, there may be a stroke movement of o1 L L 0 ot . L 0

approximately 1 mm in the locking direction due to external
forces, such as the workpiece mass.

Even when locked, if air pressure drops, a stroke movement of
approximately 1 mm may be generated in the locking direction of the

lock mechanism due to external forces such as the workpiece mass.

Maximum speed (mm/s)

Maximum speed (mm/s)

Allowable Load Mass

5. When in the locked state, do not apply a load accompanied by . . _ . . .
an impact shock, strong vibration or turning force, etc. Horizontal (Without auto switch)  Horizontal (With auto switch)
This may damage the locking mechanism, shorten the service life or 30— EE ——
cause unlocking malfunction. \\\\\\. \\“\\ Ty
6. Operate so that load mass, maximum speed and eccentric 1 100 10 100
distance are within the limiting ranges in the graphs below. S5 5 280 S5 080
If the products are used beyond the limiting range, it may lead to a < = N = —] N 063
reduced service life or cause damage to the machinery. £ N T 063 £ N
2 N 50 2 050
- o £, T 040
Allowable Kinetic Energy (Energy absorbable at the cylinder end) K] ! 3
. o ! ) o . 3o S0 032
Extension Locking, Without Cushion  Retraction Locking, Without Cushion 032 25
1000 1000 i, 025 °
020
020
[ o1
10 100 10 100
100 100 Eccentric distance + Stroke L (mm) Eccentric distance + Stroke L (mm)
= —
5 S
& N\ I
% 2100 f - 0100 L
@ 080 & 10 = 080 Li
E 063 S 063 Ll s )
3 ] 0 L1: Eccentric distance (mm)
S 250 S o L S : Stroke (mm)
040 040
1 032 1 032
025 025
020 I —— ]
-0.5MPa —— 5MPa __ | |
0.4 MPa 0.4 MPa
0.1 L L 0.1 | I
100 500 100 500
Maximum speed (mm/s) Maximum speed (mm/s)

1030




CLQ series

Ak

Switch Precautions.

Specific Product Precautions 2

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto

\ Pneumatic Circuit |

/A Warning

® Drop prevention circuit

1. Do not use 3 position valves with circuit example 1.
The lock may be released due to inflow of the unlocking
pressure.

. Install speed controllers as meter-out control.
(Circuit example 1)

When they are not installed or they are used under meter-in
control, it may cause malfunction.

. Branch off the compressed air piping for the lock
unit between the cylinder and the speed controller.
(Circuit example 1)

Note that branching off in other sections may shorten the
service life.

. Perform piping so that the unlocking port side
going from the piping junction is short. (Circuit
example 1)

If the piping of unlocking port side is longer than that of the
cylinder port from the piping junction, this may cause
unlocking malfunction or shorten the service life.

5. Be aware of reverse exhaust pressure flow from
common exhaust type valve manifolds. (Circuit
example 1)

Since the lock may be released due to reverse exhaust
pressure flow, use an individual exhaust type manifold or
single type valve.

6.Be sure to release the lock before operating the

cylinder. (Circuit example 2)
When the lock release delays, a cylinder may eject at high
speed, which is extremely dangerous. It may also damage the
cylinder, greatly shorten the service life or cause locking
malfunction. Even when the cylinder moves freely, be sure to
release the lock and operate the cylinder.

. Be aware that the locking action may be delayed

due to the piping length or the timing of exhaust.
(Circuit example 2)
The locking action may be delayed due to the piping length or
the timing of exhaust, which also makes the stroke movement
toward the lock larger. Install the solenoid valve for locking
closer to the cylinder than the cylinder drive solenoid valve.

N

w

£y

~

* Emergency stop circuit

1. Perform emergency stops with the pneumatic

circuit. (Circuit examples 3 and 4)
This cylinder is designed for locking against inadvertent
movement from a stationary condition. Do not perform
intermediate stops while the cylinder is operating, as this may
damage the cylinder, cause unlocking malfunction or shorten
the service life. Emergency stops must be performed with the
pneumatic circuit, and workpieces must be held with the
locking mechanism after the cylinder fully stops.

. When restarting the cylinder from the locked state,
remove the workpiece and exhaust the residual
pressure in the cylinder. (Circuit examples 3 and 4)
A cylinder may eject at high speed, which is extremely
dangerous. It may also damage the cylinder, greatly shorten
the service life or cause locking malfunction.

3.Be sure to release the lock before operating the

cylinder. (Circuit example 4)

When the lock release delays, the cylinder may eject at high
speed, which is extremely dangerous. It may also damage the
cylinder, greatly shorten the service life or cause locking
malfunction. Even when the cylinder moves freely, be sure to
release the lock and operate the cylinder.

N

g

CLJ2
CLm2
CLG1

* Drop prevention circuit, Emergency stop circuit

1. If installing a solenoid valve for a lock unit, be
aware that repeated supply and exhaustion of air
may cause condensation. (Circuit examples 2 and 4)
The lock unit operating stroke is very small and so the pipe is
long. If supplying and exhausting air repeatedly, condensation,
which occurs by adiabatic expansion, accumulates in the lock
unit. This may then cause air leakage and an unlocking
malfunction due to corrosion of internal parts.

MLGC

==

(]
=
D

Circuit example

Extension locking F Retraction locking B

Drop prevention

()
-
(=]

=)
=
o

LGP

=
-
—
=]

Emergency stop

= The symbol for the cylinder with lock in the basic circuit uses SMC
original symbol.

\ Mounting

A\ Caution

1. Be sure to connect the load to the rod end with the
cylinder in an unlocked condition.
If this is done in the locked state, it may cause damage to the
lock mechanism.

2. Mount auto switches from the head side.
The lock body and cylinder tube exterior have the same shape
for cylinder bore sizes 540 to 6100, but auto switches may not
be mountable from the rod side. For the head side flange or
double clevis type, install mounting brackets after mounting
auto switches and auto switch mounting brackets from the |[)-[]
head side.

o
1031



CLQ Sseries
Specific Product Precautions 3

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto
Switch Precautions.

Ak

\ Preparing for Operation |

/A Warning

1. When starting operation from the locked position,

be sure to restore air pressure to the B line in the
pneumatic circuit. (Example 1)
When pressure is not applied to the B line, the load may drop
or the cylinder may eject at high speed, which is extremely
dangerous. It may also damage the cylinder, greatly shorten
the service life or cause unlocking malfunction. When applying
pressure to the B line, be sure to confirm whether the
environment is safe, since workpieces may move.

. Size 920 to 032 are shipped in the unlocked condi-
tion maintained by the unlocking bolt. Be sure to
remove the unlocking bolt following the steps
below before operation.

The unlocking mechanism will not be effective without the
removal of the unlocking bolt.

Only 220 to 932

\ Manually Unlocking

/A Warning

240 to 2100

Unlocking lever Flat head screwdriver

Flat head screwdriver

Locking direction

Lock ring Lock ring

Extension locking

1) Remove the dust cover.

2) Insert a flat head screwdriver on
the rod side of the manual
unlocking lever as shown in the
figure above, and lightly push
the screwdriver in the direction
of the arrow (rod side) to unlock.

Retraction locking

1) Remove the dust cover.

2) Insert a flat head screwdriver on
the head side of the manual
unlocking lever as shown in the
figure above, and lightly push
the screwdriver in the direction
of the arrow (head side) to
unlock.

N

\ Maintenance

A\ Caution

1. In order to maintain good performance, operate with
clean unlubricated air.
If lubricated air, compressor oil or drainage, etc., enters the
cylinder, there is a danger of sharply reducing the locking
performance.

2. Do not apply grease to the piston rod.
There is a danger of sharply reducing the locking performance.

3. Never disassemble the lock unit.
It contains a heavy duty spring which is dangerous and there
is also a danger of reducing the locking performance.

4. Never remove the pivot seal and disassemble the
internal unit.
As for 920 to 932, a 912 silver seal (pivot seal) is labeled on
the one surface of the lock body (on the surface opposite from
the unlocking port). The seal is meant for dust prevention, but
even if it's peeled off, there would be no problem functionally.
However, never disassemble the internal parts.

1) Confirm that there is no air pressure
inside the cylinder, and remove the
dust cover (1).

2) Supply air pressure of 0.2 MPa or more
to unlocking port (2) shown in the
drawing on the left.

3) Remove the unlocking bolt (3) with a
hexagon wrench (width across flats
2.5)

Since a holding function for the unlocked state is not available

\ Manually Unlocking

/A Warning

1. Do not perform unlocking while an external force
such as a load or spring force is being applied.
This is very dangerous because the cylinder will move
suddenly.
Release the lock after preventing cylinder movement with a
lifting device such as a jack.

\ Holding the Unlocked State

/A Warning

1. 220 to 232 can hold the unlocked condition.
<Holding the unlocked state>
1) Remove the dust cover.

2) Supply air pressure of 0.2 MPa
or more to the unlocking port,
and set the lock ring to the
perpendicular position.

3) Screw the attached bolt for
unlocking (hexagon socket
head cap screw/e20, 925: M3
x5 L, 832: M3 x 10 L) into the

N

. After confirming safety, operate the manual rel
following the steps shown below.
Confirm that there are no personnel inside the load movement
range, etc., and that there is no danger even if the load moves
suddenly.
Manually unlocking

020 to 032 Unlocking bolt

Manual unlocking bolt Manual unlocking bolt

Unlocking

. X port
Locking direction

K—

Locking direction

Lock ring

Extension locking

1) Remove the dust cover.

2) Screw a manual unlocking bolt (a
bolt of M3 x 0.5 x 15 L or more
commercially available) into the

lock ring threads as shown above,

and lightly push the bolt in the
direction of the arrow (head side)
to unlock.

1032

Lock ring

Retraction locking

1) Remove the dust cover.

2) Screw a manual unlocking bolt (a
bolt of M3 x 0.5 x 15 L or more
commercially available) into the

lock ring threads as shown above,

and lightly push the bolt in the
direction of the arrow (rod side)
to unlock.

for sizes @40 through 2100, they can be used as shipped.

lock ring to hold the unlocked
condition.

2. To use the lock mechanism again, be sure to
remove the unlocking bolt.
When the unlocking bolt is screwed in, the lock mechanism
does not function. Remove the unlocking bolt according to the
steps prescribed in the section of “Preparing for Operation”.



	Compact Cylinder with Lock: CLQ Series
	Features
	Pg. 2

	How to Order
	Specifications, Standard Stroke
	Theoretical Output, Weight
	Mounting Bolt
	Construction
	Pg. 2

	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10

	Accessory Bracket Dimensions
	Pg. 2

	Auto Switch Mounting 1
	Pg. 2

	Auto Switch Mounting 2
	Pg. 2

	Specific Product Precautions 1
	Specific Product Precautions 2
	Specific Product Precautions 3





